

$$Q = 2I; d = \begin{bmatrix} 2 \\ -1 \end{bmatrix}$$

$$a_1 = \begin{bmatrix} 1 \\ -2 \end{bmatrix}; a_2 = \begin{bmatrix} -1 \\ -2 \end{bmatrix} \quad a_3 = \begin{bmatrix} -1 \\ 2 \end{bmatrix}, a_4 = \begin{bmatrix} 1 \\ 0 \end{bmatrix}, a_5 = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$$

$$x^{(0)} = \begin{bmatrix} 2 \\ 0 \end{bmatrix}$$

$$b_1 = -2, b_2 = -9, b_3 = -2, b_4 = 6, b_5 = 0$$

$$W_0 = \{3, 5\}$$

$$g = Qx_0 + d = 2x_0 + d = 2 \begin{bmatrix} 2 \\ 0 \end{bmatrix} + \begin{bmatrix} 2 \\ -1 \end{bmatrix} = \begin{bmatrix} 6 \\ -1 \end{bmatrix}$$

$$\lambda_3 \begin{bmatrix} -1 \\ 2 \end{bmatrix} + \lambda_5 \begin{bmatrix} 0 \\ 1 \end{bmatrix} = \begin{bmatrix} 2 \\ -5 \end{bmatrix}$$

$$\begin{aligned} -\lambda_3 &= 2 & \lambda_3 &= -2 \\ 2\lambda_3 + \lambda_5 &= -5 & -4 + \lambda_5 &= -5 \\ \lambda_5 &= -1 \end{aligned}$$

$$M_1 = \{r\} \quad S_1 = S_0 \text{ so } @ [x_0]$$

$$\text{Solve } \text{Min } \frac{1}{2} p^T Q p + \int^{(x)} p$$

$$\text{st } a_i^T p = 0 \quad i = 5$$

$$\equiv p_y = 0$$

$$\therefore \text{Min } p_x^2 + \begin{bmatrix} 2 & 5 \end{bmatrix}^T \begin{bmatrix} p_x \\ 0 \end{bmatrix} = p_x^2 + 2p_x$$

$$\text{min @ } p_x = -1 \checkmark$$

$$\therefore p^{(1)} = \begin{bmatrix} -1 \\ 0 \end{bmatrix}$$

Steps from .

$$d = \text{min}_{i \in U, c} \left\{ \begin{array}{l} \text{min}_{c} \\ a_i^T p < 0 \end{array} \right\} \quad \left\{ \begin{array}{l} b_c - a_i^T x^i \\ a_i^T p \end{array} \right\}$$

$$i=1 \quad a_i^T p^1 = [1, 2] \begin{bmatrix} -1 \\ 0 \end{bmatrix} = -1 \checkmark$$

$$2 \quad \dots \quad [-1, 2] \begin{bmatrix} -1 \\ 0 \end{bmatrix} = 1 \times$$

$$\frac{-2 - [1, -2] \begin{bmatrix} 2 \\ 0 \end{bmatrix}}{-1} = \frac{-2 - 2}{-1} = 4$$

$$3 \quad \dots \quad [-1, 2] \begin{bmatrix} -1 \\ 0 \end{bmatrix} = 1 \times$$

$$4 \quad \dots \quad [1, 0] \begin{bmatrix} -1 \\ 0 \end{bmatrix} = -1 \checkmark \quad 0 - [1, 0] \begin{bmatrix} 2 \\ 0 \end{bmatrix} = -2$$

So $d=1$ and $1 < 4, 2 \checkmark$. (Can 2^4 will be "kile" first, second.)

Min

$$\|P\|^2 + \int^{(2)} P$$

(4)

$$\int^{(2)} =$$

$$2x^{(2)} + d = 2 \begin{pmatrix} 1 \\ 0 \end{pmatrix} + \begin{pmatrix} -2 \\ -5 \end{pmatrix} = \begin{pmatrix} 0 \\ -5 \end{pmatrix}$$

$$\text{st } a_5^T P = 0 \equiv b_5 = 0.$$

So min $R_x^2 + 0 R_x \checkmark$

$$P = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$

$$\lambda_5 a_5^T = \int^{(2)} \equiv \lambda_5 \begin{pmatrix} 1 & 0 \\ 1 & -5 \end{pmatrix} = \begin{pmatrix} 0 \\ -5 \end{pmatrix} \checkmark$$

$$\underbrace{\int^3 = \{ \}}_{\text{}}.$$

$$\int^{(3)} = 2x^{(3)} + d = \int^{(2)} = \begin{pmatrix} 0 \\ -5 \end{pmatrix}$$

$$\text{Min } \|P\|^2 + \int^{(3)T} P = R_x^2 + R_y^2 - 5R_y.$$

$$R_x = 0; R_y = 2\frac{1}{2}$$

$$P = \begin{pmatrix} 0 \\ 2\frac{1}{2} \end{pmatrix}.$$

$$r = (2 \frac{1}{2})$$

$$a_1^T (2 \frac{1}{2}) = -5 \quad \checkmark$$

$$a_2^T (2 \frac{1}{2}) = -5 \quad \checkmark$$

$$a_3^T (2 \frac{1}{2}) = 5 \quad \times$$

$$a_4^T (2 \frac{1}{2}) = 0 \quad \times$$

$$a_5^T (2 \frac{1}{2}) = 2 \frac{1}{2} \quad \times$$

$$\frac{b_1 - a_1^T x}{-5}$$

$$= -2 - [1, -2] \begin{bmatrix} 2 & 1 \\ 0 \end{bmatrix}$$

(5)

$$\frac{-5}{-5}$$

$$= 2 + \frac{-2 - 1}{-5} = 3$$

(*)

$$-6 - \begin{bmatrix} -1 \\ -2 \end{bmatrix}^T \begin{bmatrix} 0 \\ 2 \frac{1}{2} \end{bmatrix}$$

$$= \frac{-6 + 5}{-5} = 1$$

$$-5$$

min $\|p\|^2 +$

$$\int^T p = \|0\|^2 - 2py$$

$$\text{st } a^T p = 0 \equiv R - 2py = 0$$

So $x = 3/5$, (1) ~~0~~ $\int^T = 2x + c$

$$= 2 \left(\frac{1}{2} \right) + \left(\frac{-2}{-5} \right) = 2 \left(\frac{1}{2} \right) + \left(\frac{-2}{-5} \right)$$

$$= \begin{pmatrix} 0 \\ -2 \end{pmatrix}$$